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#Absolute Measure
of Dispersion
They are measured and

expressed in the units of

data like cm, kg, KM

#Relative Measure
of Dispersion
Used for comparing

two variables with
different units or
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Which of the following is a relative measure of dispersion?
(a) Range — &Y%

(b) Mean deviation — Ab \>
(c) Standard deviation — Ao
”
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&) Range = @

The range is the difference between the largest
& and the smallest values in the distribution.

1

\.wa%}\ - Man|s - "\"\)C(z,?)%l%‘i,?::"S
Rome = 44— J5= 2

‘ O:%\ * &W} = =15 AW “’

9118




R
CY

CAWALLAH







" Calculaterange & ( Desct)

1 L
;jDiameter (n(lm?: 135 140 145 143 148 149
" No.ofscrews: (1) 3 4

D P — . 1Se T3 8

, ------------- R\;&\&Si‘*

'o i ',‘«&.uml,\.-ﬁl\;;}e‘ '
Haamat 0,
i None “““‘“

) Pt 71
Nl!



—— Calculate coefficient of range ( Coretinous Sewﬁ\cb)
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Calculate range

10-20, 21-31
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32-42 43-53

No of Students
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If the relation between x and y is given by 2x+3y=10
& range of x is 15, what would be the range of@




It is defined as half of the difference between the third
quartile and the first quartile in a given data set.
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X: 6 12 18 24 30 36 42
7 9 18 15 10 5




e
+}. Class interval: 8-12 12-16 16-20 20-24 24-28

. Frequency: 5 20




If the relation between x and y is given by Y=4X+5

&QD of x is 10) what would be the tangeofy < ) o %
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  : Mean Deviation ) cf\"w:\:r WQ\O&’F‘” \ W/
“" The average of thelabsolute deviations)from a tcentral

. valuel|is called Mean deviation
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1 X: 5 15 25
' F: 8 12 10

Find MD about Mean




Class interval: 0-10 10-20 20-30 30-40 40-50

— Frequency: 5 8 15 16 6
Find MD about mean




Marks- 31 35 29
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Find MD about median
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0-10 10-20 20-30 30-40 40-50

— Frequency: 5 8 15 16 6
Find MD about Median

Class interval:
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g8 \Which of the following measure of dispersion is based on absolute
deviations?

N (a) Range - ‘7(7-—1)
2 (b) S.D
ean Deviation N
d) Quartile Deviation
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\w"‘“ﬁ Square root of the average of the square of deviations of
l’ all observations from arithmetic mean
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Find Standard Deviation & coeff of variance
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— The standard deviation of a set of 50 item is 8. Find the
~t- standard deviation, if each item is multiplied by 2.
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—— The standard deviation of a set of 50 item is 8. Find the
4 standard deviation, if each item is multiplied by 2.
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If the relation between x and y is given by Y=2-3x
& SD of x is 10, what would be the rangeofy =D ¢ &
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Calculate Combined SD
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— The Mean and variance of 5 items are 4.8 and 6.16.

If three items are 2,3 and 6. Find other two items
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- What is ratio of QD :MD:SD ?
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Mean =10 & SD=2 . If Each item multiplied by 3 and then
10 is added to every item . Find New Coeff of Variance

New S = 3(2) = ¢
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a iven set If all data are of same value then variance would be:
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If the variance of random variable ‘X’ is 17, then what is variance o@
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Which of the following is based on' absolute deviation?
(a) Standard deviation

Mean deviation

(b)
(c) Range
(d) Quartile deviation 2022 - June
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